[ Efficiency vs vertpos |

~ 0.5

20.45
(2]

Z 04
0.35
0.3
0.25

etficiency

107 1

10 0
TP vertr (cr%)

2

[ fake+duplicates vs vertr

take+duplicates vs. r

. S ;

...........................

0.8 b 5

S ST |

9P SR

02_ ...... ﬁ
Fﬁ‘f«***

Ratio
P
N
Ty
-
ool

—=— DQM_mkFit_TTbhase

Efficiend —— pQm_mkFit_TT_retrainOldFiles125

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05

ettici

Ratio
=
!

A -

0.95— ------- 3 | B alt---
°&5 =20 -0 0 10 20

30

TP vert z (cm)

[ Efficiency vs.

simPVz]

~ 0.5

& 0.45F
e o
D 0.45—
20.35F
L>)~ E
c 0.3F
[©] o
£20.25F
() E
0.2F
0.15F
0.1
0.05F
S F
hd 1:—' """"""""""""""""" """
H+++++-+++++++++++ﬂ-
0.9%

|
N
o

50 5

10 15 20

Sim. PV z (cm)

0.81-{-

0.6 {1+

take+duplicates vs. z

ol L1.E].

0.2

...........................

..........

Ratio

0 10
track ref. point z (cm)

20 30

[ fake+duplicates vs Sim. PV z |

~ 0.05
>
80.045
£
50.04
9.035
2
©0.03
(2]
$.025
Q
£0.02
=}
9.015

05
Sim. PV z (cm)

10 15 20



	Contents
	Page 1


